ﬁagi-‘j—‘ﬂ;ﬂ% EOADERAXLXERY (FER 2568 1 A)

1. 2E0ERXERE (1 A) OEXRFNFRRA (ELER) OBXANEREDRASE (ELEE)
US—FZEEL) % 24 ILYFBENE US—FEED)
(1) SEERER(EHARME)IZ4. 2% LA LY 1RSIV INRE, 25%18 |aiERA L [ 3 25%1A |BI4R A=
(2) REREEHII27IFAT.HIERAKLYISHARL, BEE 355 46.1] |==m-=rm- i 2.59 097 P
(3) AIRAEEEEHFEE) (X0. 85FLAY, GTAICLERTO. 02/RAU ek E, EIRE S 320 10.0] |=#w 0.19 A 0.06 P
(4) E#HBOAMKRAEEIIO. 55M/&LRY. FIERAZO. O7TRAUIRE. B 94 A19.0] &% 109 | A008P
B 30 A 286] |[r—c=x= 1.40 A 033 P
25411 245128 24%F1 R Bk - BEE 233 585| |&EIE 0.48 A 0.05 P
TEEEER 4.2 % 4.3 % 4.5% HFEE-NTE 684 6.2] | [mmsasc 0.07 A 006 P
EEXREEN 273 A A 259 A A 291 B A Eag-may—t2z| 477 22.9| |&@ix-wmsEes 0.90 0.00 P
R EINEES 0. 85 f& 0. 83 f& 0.74 & E&-1atl 848 27.9] |- RiE 1.36 0.09 P
§53) ﬁﬁ%ﬁggifﬁ@;éﬁ%fg&i@ : @goﬁ‘ﬁﬁgg%%ﬁ;rﬁiﬂgggﬁﬁﬁﬁg Y—EXR(EZDM)] 455 16.7] |=#-AERaEs 0.40 A 006 P
BT SELEENGL D, HELER COEH AR NERLENEL D, 2B EOM 366 4 380 [TEIBBEAH 038 | A008P
A 4,442 13.8] |EunmEmEsst 1.41 A 040 P
2. ERROERE® ONA—T =R EERB R AERIE-ZAME. /\O—T—Y-RHKIE)
(1) ARAEREHRARIE) L. 0. 70ETHIAELARTO. 02FRAUFFEST -, SHE 5 H X F =
(2) EHEOEKRAZEE, 0. 39ETHERA LYO0. 017FRAUFTFEIST =, FERR A2 4442 1,695 1,857 890
(3) HHHRAEREHRARE) L. 1. 065 THTALYO0. 23 RAVFFEST=, BIERA 3,902 1,733 1,404 765
(4) HEREE#HIE. 13, 207 AT, BTER A L9.2% DM, R EIN 10,216 3,916 4984 2016
(5) HMRAIZ10, 216 AT, HIER A tL8.8% DB, | BIERA 9,390 3,848 3,687 1,855
(6) FFRA#IZI4, 442 AT, HIER A LL13.8%D 1M, IR E B 4,160 1,753 1,600 807
- FHRABDSE/A—FRASIE. 1, 980 A (RIER A LL7.6%1E), RI4ER B 3417 1,285 1,405 727
(7) $HEREEE%IL4, 160A T, BIERA LL21.7%D M, BIKEE B 13,207 5,854 5,025 2,328
- BERFHRKREENRS, 066 A (BIER A LL23.0%E) D55, ELTHMABBE X848 A HI¥ER A 12,098 5,394 4572 2,132
(F138.3%18) . ECHMEBEEE L. 1, 394 A(F124.4%18), TR 2 1,104 438 442 224
(8) FAEEEZIL1, 104 A (BTER A LL6.9%1EM), BIERA 1,033 425 392 216
BIRAEER 0.70 0.67 0.85 0.87
(©) T EIEE CRAERIIFEHAEE HIERA 0.70 0.71 0.81 0.87
FR255%1A B4R A Lk (%) BT A £ (%)
I W 0.70 f& 0.00 (P) A 002 (P) OFEMRASSSENA—T—/ - EEULESOIFERRRE(1A)
F % kK A = 10,216 A 8.8 — ASbhaENO—TJ—4 EHEBESLS
| EEREE 10,122 A — 1.7 J\ EB R & B W X F E S
A KRB & XK 13,207 A 9.2 — P& 777 1,407 2,026 965 1,214
P EETEE 14516 A — 5.0 AR A 677 1,797 2,012 1,256 1,312
o OoRK A F X 1.06 {Z A 0.09 (P) A 0.23 (P) TR 613 653 1,152 1,384 459
;OB oK AN # 4442 A 13.8 — ‘HIER A 529 569 1,277 977 334
| =HREE 4191 A — A 38 RIS 2k 27 56 69 76 33
R ORK B & X 4,160 A 21.7 — SRIAE[R B 20 53 62 66 31
| FEHENE 3,957 A - 16.7 XF RERIERARE/ V2 OERAEHR.
s B F £ 1,104 A 6.9 12.1 XEREHIBEOMETIEEICLHBHEHEED,
= A E F A B 3,139 A A 84 7.2 MEEMERTE., BEBNIEEINITOTD,




